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What fraction of this shape is shaded?

VAV VAN

Trevor runs a half marathon. An assembly hall has 20 rows.
Each row has 14 chairs.

He started at 09:25
He ran for 135 minutes During an assembly there are 27 seats
empty.

What time did he finish?
Work out how many people went to the

assembly
Alli-::e collected information about her Fill in all the missing labels
friends’ eye colour.
Here are her results 4
Eye Colour Number of Children ]
Number of L_1H
Brown 8 children I:l - B=
Blue 10 % = =
Green 4 0
||| |
The bar chart shows the information from Eye colour
the table
The timetable shows the times of trains Which train completes the journey from
from Southville to Milton. Southville to Milton in the shortest time?
Southville 0630 0650 0720
Leek 0703 0715 0751
Milton 0824 0835 0920

Work out the volume of this cuboid

Scm 7 22em

12cm

A helpful little worksheet from TransferReady.co.uk




